3x+5x——1—D
Df:D

@ -7,8,-8,-1 ®

3)7,8,-8,~1

&8

3x+7=-5x-1
3x+5x=-1-7
8x = -8

Lx=-1

kA Jigke] oz 4=

E 2}tz 2 H 7,8, -8, -1 o]t}




@® 2x-3=9 @ 2(x+1)=3x-4
(@)5x—7:3(x+1) @ Tx+1=2x+3

® x-1=2x+6

B

4x-3) =x+3 S EH4x-12=x+3,4x—x =3 + 12,
3x=15,x =5 o]},
®5x-T=3(x+1)SEH5x-7=3x+3,5x-3x=3+7,
2x = 10,x = 5 °|t}.




T(x+1)=10x + 1% T2 & 2= YA A9

D)4x+8 =16 @ 4-3x=-2x+7
® 6(x-1)=—(5-14x) @ 5(x-8) =6x

® 2x-7(+x)=0

&8

T(x+1)=10x+1
Tx+7=10x+1
6=3x ..x=2

@ 4x+8=16
4x=8 .. x=2

@ 4-3x=-2x+7
4-T7T=-2x+3x .. —-3=x

®6(x-1)=—(5-4x)
6x—6=-5+4x
6x—4x=-5+6

1
2x=1 .. x=—
X x 5
@5(x-8) = 6x
5x—40=6x .. —40=x

®2x-7(5+x) =2x—-35-Tx =-5x—-35=0,
-5x=35 .. x=-T7




A2 A 0.01x + 4.1 = -0.02x - 0.1 & ZH?

(@)x = -140

4.

® x=-17

-120

@ x

® x=140

17

X

x4 410 = —2x - 10

3x

—420

ox = —140




